XZgnES RT-081

273

25

TI-Fry S

105

65

82 O T 82
120 T 120
35 35
FoUK-AR B dBg
“ ’0 20
e 2T VLRARIE Dy De = ThSy FY RS2 1=300 1 17
' 23UV99y el Fu b, M6 A7VVR =15 LSy s
FPDM/ty % v 5K 10 | = % —
I - L el =
= 4 = — B @ I ] o
A BAVEHS2 t=6.8 (18 ‘ 5 32502 t=1.5 /
- 27 VLR t=1|5 HUtE s — o
< ! \A%B, ) i
| - iy PERPAN: 3 P,
J-F AR §618 ‘ O ZA
\\ J
o @ | = vy
! / ZDC2
C ‘ @ : /*:E@Ktﬂ
| ’ H
— 2 \O)
‘ ©
U @ | \v)
| AN ‘ HikoX+ 7
) %) © I, -
= BEh ° | . :
27902 t=1]5 HUt 155 ‘ @ . C @) 55
KR 86 —| 87 68 | @ L | e
KIRA NN —— L
AASHE i [ O] ‘ | Q |
4mm7 72E2 @300 | ‘ [ZBAKY) U3 VA A-IH ]
>=Uvg AP ‘ A
“Bk9 W=100 — \ o ‘
2702 t=1.5 HUtE N « < H - |
—BAYTI VN ¢ ’ |
= EL o |
— | S ‘

TUN-28 (&)
AT7VL2 t=2

EDEINIIN (B1E)

30

AN
‘ \%< T IFER GEANYY
1 5 (3%) -2 (B55EE)

1%/ OA 4/5
(CEEMIN:I)) N\
& £t (B

>=U2 7 (BlE)

%)
50 ft LROE =414 -60
32 150 FIRROE =950 +40

4 EL NG
BAR (B&)

79327 9¢
4UF=04%- 1.8¢

il
%ﬁ&b’?w«

FURERK 54 b2E-2Ny ¥ SHK—SUS— i - T e " PR owrEosTyoRRed
GBI ED AT
e " p LR A 5
e 5% [ o o L L &
R| 2 & A i / #




XEERE=S RT-081

62 YT 62
120 9T 120
35 35
e m g
FoUK-AR B 468 . ’0 20
Ml 2FVLRRIE Dy e TR Y i AS2HT =300 1 17
Y| 27UVI9ve- - Fu b, MG | AFVLR =15 | t—3-Uvg
Ty 5X
EPDM/Ty %3 5% 10 ”m\ | = ’%ﬂ__ﬁ
15 w— = 4= _ “» q; — B
p—— — ) / ——BADENS2 1=6.8 (F) ‘ \ FL e 5
3 A7 1=1. \j %‘ 77 vz | 77 ‘V’%
| ZZ — = < ERSE M
1 — 7<t z EE X =1
// %J {% “““ —_— BAE)YaA Db EBFME  s=1:2
1 - EKHER BoiaY : = 6
V5 » o=
o @) | = ey
: i O c | A T *
J | O [ /Jmtﬂ
. = | == 0]
N =
2 B | @
I AN | HAA T
. 9% © € !~ O
= BEh b | ~. ’
27 YL2 t=15 HLtt 155 ‘ @ ~. C @) 95
iR 80 87 68 ‘ @ N L J 87
KRR N =
AA S © ‘ [ @] oy
=) | [ZBAY Y34 V82— I |
4mm7 72E2 @300
s RNy | i
“BKk9 W=80 = ‘ [~
o 279U t=15 AL |
. | |
Te) . ~ —
~ VO PEPMIN: 79—ty i
e TUN-28 G&Y)
= R 27V R t=2
s EDENIN ()
T3V ITED BN
| BAE -2 (BI5EH)
7/ VAR 4/75
(J34 1 8H) N
S=Uv7 () L4 (R12)
30 ft EROTE =Wt 60 30
32 150 RIRBOTE =0T 150 32
kB mm)—/ \ FO9-0-937 9¢
{UF=94%- 180
iy
%ﬁ&bw?v«
TEH FERER 54 b2E-2N\w F SHK—SUS— iE - T e = FORB =mrsnoosTyosRatt
B LA A N
w 1 Y s # - kit A o o o g
Rl T 5 N o o o H e n




RIS

T

TIOUR-LR B {BE

AFVLRARIE e Dy Y=o TN
27070y e —-Fu b MG

NUEW

EPDMISw %> 5% 10

44

RIER
Z7VL A t=1.5 HUtE

62

ASZHT =300
272 t=1.5

7

J-F-8BKER 8185

273

108

=4

—1 ﬁ)}
BEH
27V t=1.5 HUtk 155
KRR 86 87 68
KRR AN
AASHE

4mm722E2 @300

-Uvg

“BAY W=80

272 =15 HULE

ZRAEY3 AU

105

65

HeAoN+4 7 4/

(J342hBHE)

>=U2 7 (Bl&)

70

7%+

27

7oh-28 (@)
27V 2 t=2

AE-2 L-30x30x3 E& 60
(II5FE - BIHBE)

%*WOOXSOXZOXZﬁ
5

&)

ft LROTE =141 - 60

BALVRASZ t=6.8 (B

X

i

ERES RT-081

(e

55

—

20

17
t—-Uvg

A
ZBkY

27002 t=15

BRI A UNEBEAN  Ss=1:2

<]

%E

//*ZEKQ

HiAk+ 7

[ZBAY I3 4V B« A-J0 ]

FIRREOE =1$81E +60

KETiER -
FRI7ZIWEN=D4 207
KECAVMR (=25
(708

\\;Aggfﬁiu<m

% ARD=F-A

&)

79307 9¢
4UF=04¥— 1.80¢

ONE G

FEIREEARL >S4 2E-2Ny F
L5 e et i B

SHK=SUS-

N}\

Yy

1 ]

!

& %

« BAALRE

=BTSNS TY MRS

JdosHE K

/ s




XEgn#ES R1-081

67 RSN T
120 WFRTIA 20
35 |

7oUR-Lf B IBE

20 ~1 7 &
AT VVDARIS « Dy b= ANy F2 [ [ ﬁfz?\ﬂﬁl =300
230599 50 = Fu b, M6 \\\[ﬁsﬂ 27 9L2 t=15 .
|

273

2702 t=15
EPDM/Ty %3 5X 10 N\
R . “BAKY I3 A VSR S=1:2
— , BADTHS2 t=6.8(BR)
. 27 L2 t=15 HUtE A4 .
<~ %\ ke - N ~ SN A EE
%" W /ﬁ?ﬁzb]? /ﬁwﬁﬁ (R/£$E>
N A, 772EZ 4x13 \ |
-7 -8R BotE — MEx2S uh T2 b e =2 |
O \
o AN N |
: i o o \
o > 010x20
%ié% BE7N- GBL) — —t 5 /
H 27UV t=2.5 K| T
HlO i S
—tHo © © © O
% — © © o8 iﬁ‘}i?‘m'(ﬁ))—/ 60m /908 ©300 | 60% /902 @300
= e A7uL2 =25 130%: @500 | 130%: @500
27 L2 t=1.5 HUtE 155 [
KRR 86 87 68
KRN 53
AASHI ©
. . 16.5. 20 16.5
_ BES 32x32 SOl Py
4mmz 72E2 @300 Bl 2RE Do R t=2.3 Bl &7RD > HAR t=3.2 I 010x20

A

ZBkt) W=85

2702 1=1.5 HtE

60

- [ 2 =l (el e e
© m — X792 AR
53 J o[ T 7
8

32

Y O ER AN VTP

70

N\

105

65

32
@ 4] 47 ‘ﬁ;¢20

M8x25 ¢11
AR e FybeDyIe—x?
XMW BDEIZ. dmmT 7 2E2E®

HANAT 4/

(I3 42 hEBHE)

! - BT Uh- GAY) 7 N-BEHS
i 27702 t=25
! ' BHT VI
! “N\ BHRGAS - SR t=3.2
| L‘J J-F22Ya- 8x75
4 B H

Y-UVT () ———— T N

// )
KRR | /
60

FRI7IRI=D4 7

iy HERO % =05+ % - 60
e 28 | 105 RO =BT +60 TIAER D] S0
| 1t N b (21) AIVN TOEE TOAEXTCOEE
\ YOI 07 9¢
| 497047 1,86 K7 VN (8L, ANIO¥)
o) SHK—SUS— CBRU2T VN1t (FREE) .
¥ ARL-gen BTV I0 BEAEZ « Rbh Y by
1-F2991 - (ETHFR)
8 FERAL SN RE-IN T SHK—SUS— e e CrEE A — - I e B
2 Lpmeimsan N - - - -
Gl n A . . L L
w1 ! g 1% - ki P g
R T T st Aﬁ7 T T T T = / e




XEERE=S RT-081

42 PN 42
120 T 120
35 35
FoUK-LA T 488
PEl ZFVLAKNR Dy Tr - JASRy [ i ASZRIT =300
3 279V Ty e = Fu b M A7VL2 t=1.5
EPDM/Sw £ 5X10 \ M~ RBSIRK
i\ j ()
— > T, / BAVESS 1=6.8 () € S
T - 27 VL2 t=1.
< 27 U2 t=1.5 HUtE s / — \ .
4= \ “RADIAVNEEIE s=12
| %J ‘ — ol ot 0 =1.
J-F—8KIER 8618 }éh / |
—1 O |
o PN | e
” HJ @ @ | oln / 7002
A\ ZRKY)
&) /
o % > | 6 W% H@/
il | ©
Eil © ) | KN4 T
3 o) @ €C @ ~_ ] 7
= BER b | ~._ s
279U t=1.5 Htt 155 ‘ @ \\@ C @) S
KiER 86 87 68 ‘ ¢ L J 87
AN -
AASHIE iu Q ‘ | O |
. | B PEEDI ]
dmm7 72E2 8300 O !
& RN \ | i
—BxY W=60 d\ - E 7 H = ‘ H > > b
- 2702 =15 HMEE e [smsj . =P
0 g =T ! il N
5 | 5 S
Ie} —~-7 _ | NS
N ZRKE VI AN E = J \ s | LS
] FOI-Fpy T \ T T
= N\ 7un-28 (tﬁ;) Ty
= 27 VL2 t= 117
< > !
3 i hﬁ\i -
BAfE-2 [—30x30x3 £&50 SEm
\ (THFE - BiSwH) i
P q L—65x65x6 (Bli&) ) v
(34225
S-UYT (BR)
60 t HBEOTHE =T - 60 60
32 100 / / HREOTE =T 460 100 32
/ \— HEH (B8
BB (318 %E\ FOa-r-u7 96
195047 = 186
|
Y
$ ARD=F A
% HR 5 = I8 - B 1F B = —_ _
Teen AHREE S5 h2E-20w 7 SHK—SUS— TR - 58 TR A = A S ! P8 s TSTy RS’
5 LHaMb:de A -
a1 - A T
w 1 e @ 1 A ]
R 2 £t Aﬁ T T T T 5 / #




XE€RES R1-081

152 AN 152
120 5
ToUK-LE B ABE
20 N | 20
R | g B
- EPDM/ty %> 5% 10 \\§$n
T

44

62

/7%%)\@}%71"71 t=6.8 (3li2)
7

J-F-8KkR 86184

=S

273

108

B W O

MR ls
27 VU2 t=1.5 Hutt b
N
te
i
I
"

J/a\N
N\ /4
@
©

27 VL2 t=1.5 HUtk f+,o
KR 86 5
KRN - 155

AASHS
4mm792E2 @300 &/ o8

Al V)

ZExg W=170

Z Bk
27V LR t=1.5 37

RT3 AN BAAR  s=12

/ ZRKy)

% A

[ZBAY J31 V84 A-I0 |

A7VL2A t=1.5 HUt L
FUN-L-b 7B ©
60x8 o | e
=y CIDER AN B EL
S . .
@ POI-kby S o S ———
TUh-28 (&) . ‘Eir::::i:j//
257D t=2 ° !
o i
o) N !
™~ EHTINFIL (BB -
TR
Bt -2 (RiE5E) §§§§
mmm«y—gggg/L 1
(345 aH0) \ \
o f 141 (30)
ymUv7 (8ig) 55 t FEOE =BT — 60 55
AR OHE =135+1% +50 75 27
K\ Kzt (Blg)
FO5-r-3v7 96
{VF-04%- 1.8¢
|
oY
YE?M"D'?*'\
ﬁTE‘Jﬁ@ﬁﬁﬂ?% NAE-INY F SHK—SUS— EUL IR B £ B B =S TIS Ty IR
2 LpolimIax - g
@ 1 £ ; 1 kA o g
Rl "9 el - H e i




BSMETE

X

O

gRE= RT-081

A

FoUR-LA B 4B8E

AT VLZAMIN « Dy 9=« TAXY ¥

35

AZ2ZBIT =300

20

17
Uy s

N 27UVI09 e - Fu b, M6 [ AFvL2 =15
EPDMty ¥ 5X 10 —~ I -
v @ﬁd =]
— / BAYEAS2 1=6.8 (7id) 8k ]
. 277L32 t=1.5 HUtE @ L f — ATouAiEts u
3 ﬂ%‘
2) “BA) U3 A NN s=12
\ R
J-F—EKER 8oty B =
e O
- ) S
© i @ O 50
1\ ZBAY)
\v) /
: 1
R
ot t=1.5 HUt £ - HKt 7
A7 VLR t=1, ® K
) ® O m
o KRN 8o
MEWJ;\;' 55
AASEE
_ . 87 \:
4mm722E2 @300
Yeyyd M @
= ﬂ
ZRKE) W=170
~ 2702 t=1.5 HUt L
M FUN-L=b ZIIBB
60x8 il H
0
NI PEEPIEE jL -
N
< FO9-kby S
7UN-28 GBY)
0 2FVL2 t=2
o (@)
0 & EHENII (BB
T2V I EE BEAYY
: =5 (I8 Mitt -2 (REEE)
oty ——] N
CEEVAN:I:)) fEH (B8)
S-uv7 (38)—
30 1 EROE=1$%1% —-60
22 100 ‘ 150 RIRFOTE =0
\ 7= 7 9¢
4UF=04%— 1.80
|
oY
{72"\%/'9"\
I3%% HH‘JﬁEﬁﬁ:\?4 K2E~ 9Ny F SHK—SUS— ST EE A = A E SWITTHIATTS5TYIOMREA
5 LAnWimdE A .
W 1 a % 1% kA o g
Rl 9 & o = / #




